
3.31 Position of a data point within the Group O

We seek to define the location of any give
data point with in that data Point; Gorp

This tells w how to consare different
data points

E Amongst their gender who is taller?
a man @73" ? a woman 6 8 "

?  T o  a n s w e t h i s  g u e s t i o n  b e  i n t r o d u c e  t h e
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statisticions found that in a pap of college

men the average height is 69.4 inches with
a std. deviation af 3.1 inches

For college wormen the meanis 63.814
and a std. dev. uf 2,8 inches

Qi Who is taller with in thait gender grip?
a 73" male or a 68 "Female?

?We can assume these groups has a unitodal
and symmetic distibution thus allowing w to use
z - scores o

? The 73" male: z=73-69.4 = 1.16 std, dev
from the
mean

? The 68"  female:  Z= 68-63.8-1.50

Conclusio The 68" woman is taller within

her group v S . '
6 9 . 4 - 3 . 1

the 13' male within his group
69.4+3.1 63.8 - 2.8

= 6 3 . 3  " =161.0"
63.8+2.8

= 7 2 . 5 = 166.6"

68% z = 68%
63.8+2/2.8
= 69.4"1

6 9 . 4 "
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our male stadent
?= 1.16

6 3 . 8

WOMEN.
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our female
student.


